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(A) |x-3]<2
(B) |x+3]<2
(C) |x-3]=2
(D) |x+3|=2
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(A) g, ()=a(x+2)*+b(x+2)+5
(B) g,(x)=a(x+2)’+b(x+2)+3
(C) g, =a(x=2)*+b(x-2)+5

(D) g,(x)=a(x-2)*+b(x-2)+3
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( log2~0.3010 ; log3~0.4771)
(A) 1
(B) 1.5
(C) 2
(D) 2.5
HR LT G ) e B U =(—1L3)8 T A - BE R e B2 %

A2 OR ?

(A) (12,4)
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(A) (13)> (2,3)> (3.3) > (43) > (53)
(B) (1,2)> (21> (33) > (44) > (55)
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)

7F % 10F



109 & &2

AR a2

3 + . -] I"‘” 2 - ' 2 -g‘»:' 1 - —é‘
15.&#%—,%"*??55‘\@'{‘—:(’51ﬁuﬁmmﬁl§g‘@z’:’1mﬁmmi—;
v 3 > _;. > + - . 2 3 L f"’/ > 4 - y »

= ZO SRS XA T R 3, IR G R

oot vE AHIPBI ApHE o BFR XOPZELT M- BE

w9

() 5
®) 3
© 2
™ =

16, & & T g F 5 — B = & 35,0PQ> H 7 8 & 4L & v 2 0(0,0)~ P(6,8) -

Q2,4) - #FR T Al BER DT AN ELEN=Z &30PQ tha

f# 7
3 4
@ |,
6 8
® |,
6 4
© |,
4
(D) 2 4

8 F 107

)



17.

18.

109 & & 3 2

L o
FEH G T BRBFE R FEY 2 AR R Fi 2T B
FEFRALIFZT B BEFE X BRI -2 F
v A 2B R HER ARG AN
(A) 210
(B) 315
(C) 630
(D) 840

S hv- MPRPNT ARER LI AENER(FHER ) LT
LS e AU s 2 ABCDEF 29 AvBaXt ; C-
D Et®- % Fayhhlt o 320 p 5 #&2X+y sk | @3

4 V- B 7

(A) A
(B) C
(C) D
(D) F

)

9% > % 10F



19.

273 50~ 2410~ W 84S MR 6t 1 ~H
104 2597 B4 F 128 B £ > 4ok B o g R

AR 128 A 0 BRE G AL 0

(A) 11
(B) 13
() 15
D) 17

20. £ 4% G 1o 2 &7 MBCY » D AB? g0 ELBCL B=E:20

« «wp gt AE-CD =0 E'J%ﬁﬂ_ﬁ_é 2

1
(A) 5
1
(B) 3
() 2
(D) 3

10 F % 10F

iy



